Multiplicar Tres Polinomios (E)

DO

Ot

Simplifique cada expresion.

(—4K° — 9K (5k* — 9K3) (—8K® — TK?)

- (6d° 4 6d")(—9d> + 2d*)(d + 3)

- (—48° — 75%)(s* — 5s)(—65 + 2)

(=56 + %) (3" + 5b%) (b° — 8b*)

(=8w” + 9wt (9w! + 6w®) (—8w* + 8w?)
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Multiplicar Tres Polinomios (E) Respuestas

[\

Ut

Simplifique cada expresion.

(—4K° — 9K (5k* — 9K3) (—8K® — TK?)
— 160k2 + 212k — 58510 — 567k

- (6d” + 6d*)(—9d° + 2d*)(d + 3)
— —54d° — 204d® — 114d" + 36d°

- (—4s° = 75Y)(s* — 5s)(—65 + 2)
— 245% — 865" — 1845°% + 70s°

- (—50% 4 1) (3b* + 56%) (b° — 8b*)
= —15b'% + 98b!t + 18161 — 408°

(8w’ 4 9uw*) (9w’ + 6w’)(—8w” + 8uw?)
— 576w — 840w — 168w + 432w
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